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Answer the following questions.
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Point out shart and the jawab al-shart in each of the following sentences. If the jawab al-shart has

<3, mention the reason.
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Use 13} in two sentences of your own without using 2 in the jawdb al-shart.
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Use \.Si in four sentences of your own. The jawdb al-shart should be:
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a) a nominal sentence in the first example.
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c¢) a verb with the /am al-amr in the third.
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d) and a nahy in the fourth.

b) an amr in the second.
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LLESSON 14

LESSON 14

In this lesson we learn the following:
(1) \51: it is a zarf with a conditional meaning. It is mostly used with a verb in the past tense, but the
meaning is future, e.g.:

2 ‘\ - & P ai_, ol R .
: m',)\;,;b\ﬂ\ o AL Judls C_',.)_\) bﬂ ¢4 ‘If you see Khalid, ask him about the book.”

. dod) ;u,i R QLa_fa; el \.:\ ‘When Ramadan comes, the gates of Paradise
are opened.’
The Arabic word for ‘condition’ is s/t (ly_’,ﬁi«,‘\\).
There are two parts in the s/t -construction: the first part is called s/iart, and the second jawdb al-

sharf (,L"' ':,.,Jc\,\\ o) eg.:
ﬂ - . .
&\,;a.,'c) ;\> \,Jl is shart, and
Lol DVl s is jawab al-shart.

We have seen earlier that the verb that comes after \51 is mostly mdcli. Sometimes /muclari' is also

used.
The verb in the jawdb al-shart may also be muddri* as we see in the following duet:

@ 2 o0y
Lg=2ey 13) &8, &wﬁ\ 9 “The soul is desirous (of more) if you allow it to desire,’
A J,b 65\ .> j: |3 l9 ‘but if it is turned towards a little, then it is content.’

The jawdb al-shart should take a 2 in the following cases:
1) if it is a nominal sentence, e.g.:

d M CBJ\& - J.é.::;—\ \5\ ‘If you work hard, success is certain.’

st dL k9.C— 63\,&« J\M .)‘ + “And if My servants ask you about Me,

then surely I am close by.” (Qur’an 2:186)
2) if the verb in the jawdb al-shart is talabl. A talabi verb is one containing «amr, nahy or istifhim

Ze.g.:
a)),a.w.s\ 4.5\.«»\.@ Tl g_,u\) \.3\

" The word ‘51 can be translated with ‘if’ or ‘when’.

Istifham (%\.@_ag..f}[\) is a question, e.g., $ gl
68



LESSON 14
‘If you see Hamid ask him about the time of departure.’ (amr)

Gl OF U8 s 65 St 130T 455 1)
‘If one of you enters the mosque, let him perform two rak ‘ahs before he sits down.” (amr)
il f 36 Lot ol 2355 1)
‘If you ﬁr/ld the patient sleep/ing, don’t wake him up.’ (nahy)
¢ J Ul 15k Vs Z3 1)
‘If I see Bilal, what sh;)uld I tell him?’ (istithém).
(2) We have learnt the nasab in Lesson 3, e.g.:

B515 43 from 015 42|

Now we learn that if a word ends in 1@’ marbiitah (8) it is omitted prior to the addition of the ya ' of

nasab, e.g.:
v
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telegram L3 ;9.94 als
habit Lollae y Ludas fulans “udas
sneeze

to have mercy (i-a) |l i\,q.;u Jo>
By Liscgls sug s
(2l ole

Ulda ») Loa
s =) &

guidance

to improve, ameliorate,
reform (iv)

state, condition

to be linked,
joined (viii)
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to get up (a-u)

to sneeze (a-1)

to praise (i-a)

to guide (a-i)

guide (active
participle)
guided (passive
participle)

gift, present

to be good, proper,
in order, pious (a-u)



to change, transform,
transfer (ii)

(B) &) 5 £

to wake s.0. up (iv)

to reply, send
back (a-u)

elbow

to proceed,

strive (a-a) (9‘3\ i3 &) C) ;Ul

term, appointed time,

deadline, time of death

to be late, be
delayed (x)

to leave behind, discard (iii)
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Lalials) poinls]

to contain, comprise
v)

to desire, covet,
crave (i-a)

to be content, to
satisty (i-a)
to dislike (i-a)

to precede, go
before (x)

vessel, container,
utensil

plague

to feel drowsy
(a-a/u)

to fall down, come to pass, happen, be located, be situated (a-a)

to leave (a-a) (only the muddri* and the amr are used.)
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